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EXERCISE-1 
 

     
 A. 

 Q.1  
? 

 

Q.2  
 ? 

 

Q.3  
? 

 

Q.4  
? 

 

Q.5  - -
? 

 

Q.6   ? 
 
 

Q.7  h 

? 
 

Q.8  

 
 

Q.9   
 

Q.10 
? 

 

Q.11 
? 

 

Q.12  ? 

 

Q.13 
? 

 

Q.14 20 m/s 
6 80 m/s 

 
 

Q.15 98 m/s 

? (g = 9.8 m/s2). 
 

Q.16 500 m 
 ? 

 

Q.17 A  B -
 ? 

 A B 

  
 

Q.18 72 km/hr m/s 
 

   
 

B. 
 

Q.19      
Q.20  : 
  (i) ,  
  (ii)  
Q.21 
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Q.22 
?  

Q.23 40 km/hr 
-
5 -

 
Q.24 - 
  (i)  –      
   (ii)  –   
 
Q.25  A  B 

? 
 A 

B 

 
Q.26 AB, BC, CD  DE 

 
 

 

D 
C  B

E A  
Q.27 

 

Q.28 A, B  C -
 

  

 60
50
403020
10
0 1 2 3 4 5 6

C 
B 

A (m
/s) 

 (s)  
 (i)  ? 
 (ii)  ? 
 

Q.29 u 
a nth 

 
 

Q.30 
5 s1 

5 s2 
s2 = 3s1  

 

Q.31 44 m/s 
121 m 

  
Q.32 60 m/s 

g = 10 m/s2 

100 m ? 
    

 C. 
 Q.33 -

 ? 
Q.34 - -

? 
Q.35 -

? 
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Q.36 -
: 

  (i) 10 s  
  (ii) t = 15 s  
  (iii) t = 20 s  t = 25s . 

 40
30
20
10

0 5 10 15 20 25R 

QP

 (m
/s) 

 (s)  
 

Q.37 -
: 

 60
50
4030
2010 A 

B 

C 

D E 

F 1614121086 20

 (m
/s) 

 (s)  
  (i) t = 6s  t = 8s  
  (ii) t = 10s  t = 12s  
  (iii)  
  (iv) t = 14 s  t = 16 s  
 

Q.38 -
: 

 1510
50 1 2 3 4 5 6 7 8 

 (s) –5–10–15

 (m
/s2 ) 

 

  (i)  
  (ii) t = 5 s  
  (iii)   t = 4s  t = 8 s 

 
Q.39 42, 250 km 

24   
 

Q.40 120 km 30 km 
30 km/h 

90 km 
60 

km/hr  ?    
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EXERCISE-2 
    

 

Q.1   
,  -      

 (A)  (B)   
 (C)  (D)   
   
Q.2     -        
 (A) >   
 (B) <   
 (C)    
 (D)    
 
Q.3    :      
 (A)   
 (B)   
 (C)   
 (D)   
 
Q.4    ?       
 (A)   
 (B) 

  
 (C)   
 (D) 

  
 
Q.5    -      
 (A) 

 
 (B) 

  
 (C)  (A)  (B) 

 (D)   (A)  (B)         
 
Q.6     -       
 (A)   
 (B) 

  
 (C)    
 (D)    
 
Q.7  -       
 (A)   
 (B)   
 (C)   
 (D)   
 
Q.8    :      
   (A) ,   
 (B) ,   
 (C) ,   
 (D) ,   
 
Q.9   ( ) 

?        
 (A)   
 (B)   
 (C)   
 (D) 

  
 
Q.10 S.I.  -  
 (A) m  (b) ms–1  
 (C) ms–2  (D)  
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Q.11  ?  
 (A)  (B)   
 (C)  (D)   
 
Q.12  - 
 (A)   
 (B)   
 (C)   
 (D)   
 
Q.13  

?  
 (A)   
 (B)   
 (C) 

(D)   
 
Q.14 - 
 (A)   
 (B)   
 (C)   
 (D) 

  
 
Q.15  

:  
 (A)  
 (B)   
 (C)   
 (D)   

 
Q.16  , :  
 (A)  (B)   
 (C)  (D) 
  
Q.17 

 - 
 (A) 

  
 (B)  

  
 (C)    
 (D)  

  
 
Q.18  -  
 (A)  (B)   
 (C)  (D)   
 
Q.19 -  
 (A)  (B)  
 (C)  (D)   
 
Q.20  , 

- ,  -  
 (A) -   (B)   
 (C)   (D)   
 
Q.21  - 
 (A) ms  (B) ms–1  
 (C) ms–2  (D)  
 
Q.22  /  -  
 (A)  (B)   
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 (C)  (D)   
 
Q.23  - 
 (A)   
 (B)  
 (C)   
 (D)   
 
Q.24    –6.0 ms–1 

 -    
 (A)   
 (B)   
 (C)   
 (D)   
       
Q.25    60 kmh–1  10 

 -        
 (A) 6 km    (B) 600 km      
 (C) 10 km   (D) 7 km      
 
Q.26   

 -      
 (A)  (B)   
 (C)  (D)   
   
Q.27    SI  -    
  (A) m/s   (B) km/s      
 (C) cm/s    (D) mm/s      
 
Q.28    5 18 km/h 

36km/h  ms–2  -      
 (A) 1    (B) 2      
 (C) 3    (D) 4        

 
Q.29  ?      
 (A)  (B)   
 (C)       (D)  
 
Q.30     C.G.S.   -     
   (A) ms–2      (B) cm s–2      
  (C) ms–2      (D) cm s2      
 
Q.31   , 

, 10 
40 kmh–1 

 -      
 (A) 18.5 ms–2     (B) 1.85 cm s–2      
 (C) 18.5 cms–2      (D) 1.85 m s–2      
 
Q.32     6ms–2 

2 
 -      

 (A) 6 ms–1      (B) 12 ms–1      
 (C) 24 ms–1      (D) Zero      
 
Q.33    10 ms–1 

 -      
  (A) 100 ms–1      (B) 50 ms–1      
 (C) 10 ms–1      (D) 5 ms–1      
 
Q.34    35 kmh–1 , 12 

 -     
 (A) 7 km      (B) 3.5 km      
 (C) 14 km    (D) 28 km      
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Q.35    20 ms–1 

,  4 ms–2  2 s 
 -          

  (A) 8 ms–1      (B) 12 ms–1      
 (C) 16 ms–1      (D) 28 ms–1   
    
Q.36  10 s  20 kmh–1   

50 kmh–1  -        
 (A) 30 ms–2      (B)3 ms–1      
 (C) 18 ms–2      (D) 0.83 ms–2      
         
Q.37   

, 
 -   

 (A)   
 (B)  
 (C)   
 (D)   
 
Q.38    

h v 

 -  
 (A) 3 h  (B) 6 h  
 (C) 8 h  (D) 10 h  
 
Q.39   10 cm 

 200 m/s  100 m/s 
- 

 (A) 10 × 104 m/s2  (B) 1.2 x 104 m/s2  
 (C) 13.5 × 104 m/s2  (D) 15 x 104 m/s2  
 

Q.40  'h' 
h/2 

( ) -  
 (A) 12    (B) 22    
 (C) 32    (D) 23    
 
Q.41  -

 - 
 (A)  (B)  
 (C)  (D)  
 
Q.42  8ms–2 

1  - 

 (A) 2 m (B) 4 m 
 (C) 6 m (D) 8 m 
Q.43  -

6 
 - 

 

t(sec) 

v(m/sec) 

1 2 3 4 5 6 
1 
2 
3 
4 
5 

1 
2 
0 

 
 (A) 8m , 16m (B) 16m, 8m 
 (C) 16m, 16m (D) 8m, 8m 
 
Q.44  - , 2 

? 
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 (s) 

(m/
s) 

1 2 3 4 5 6 
2 4 6 
8 10 

0 7 
 

 (A) 1/2 (B) 1/4 
 (C) 1/3 (D) 2/3 
 
Q.45   ( ) 

 - 
 A

B
t 

v 
0  

 (A)  
 (B)  
 (C)  
 (D) OA 

 
 
Q.46   BC - 

 A
C

 

 

0 

B 

  (A)  
 (B)  
 (C)  
 (D)  
 
Q.47 1C  -  
 (A) 57.3°  (B) 573° 
 (C) 180° (D) 360°  
 
Q.48 200 m 

40 s 2  40 s 
 ?  

 (A) 2200 m  (B) 220 m  

 (C) 22 m  (D)   
 
Q.49  ?  
 (A) 2512 m  (B) 2500 m  
 (C) 2200 m  (D)   
 
Q.50  

,  - 
 (A)   
 (B)   
 (C) 

(D)   
 
Q.51  28 m 

 -  
 (A) 28 m  (B) 88 m  
 (C) 44 m  (D)   
 
Q.52  7 m 

10 
 - 

 (A) 4.4 ms–1 (B) 0.7 ms–1  
 (C)   (D) 70 ms–1 
 
Q.53 5 ms–1 5 

m 
- 

 (A) 25 ms–2  (B) 15 ms–2 
 (C) 5 ms–2 (D) 1 ms–2  
Q.54 - 
 (A) rad  (B) m/s  
 (C) rad/s2  (D) rad/s  
 
Q.55 1 : 2 

 -  
 (A) 1 : 2  (C) 2 : 1  
 (C) 1: 3  (D) 3 : 1  
 
Q.56 1 m , 2 kg 

 10 ms–1 / . 
 - 

 (A) 5  (B) 10  
 (C) 15  (D) 20  
 
Q.57 v,   r  -  
 (A) r

v   (B) rv   
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 (C) v
r   (D) 

 
Q.58 : 
 (A)   
 (B)   
 (C) A  B   
 (D)   
 
Q.59 : 
 (A)   
 (B)   
 (C)   
 (D)  
 

Q.60 r 
th




4
1

 -  
 (A) 22:1   (B) 1:22

  
 (C) :22  (D) 1:22   
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ANSWER KEY 
 EXERCISE - 1 
 1.    2.   3.   
 4.   5. 0, 0  6. 0   
 7. 2h, 0  8. r, 2r  10. v = r  
 11.   12.  13.  
 14. 10m/sec2  15. 490 m  16. 10s  
 17. A  18. 20 m/sec   
 27. A , B   28. (i) A, (ii) C    
 31. 8 m/sec2, 5.5s 32. 2s, 10s   36. (i) 300 m (ii) 0 m/s2, (iii) –6 m/s2 
 37.  (i) 30 m/s, (ii) 0, (iii) 10 to 14 s, (iv) – 15 m/s2   38. (i) 2 to 4s, (ii) – 15 m/s2 (iii) 30 m/s 
 39. 3.1 km/sec  40. 90 km/h 
 
 

EXERCISE - 2 
 

Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
Ans A D C B B B C D A A A A B A B D B B C D

Ques 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
Ans B A D B C A A A A B B B C A D D B A D B

Ques 41 42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
Ans A B A B D A A D A C D C C D A B A B C B

 
 




